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a— | i SR B G WD | e | g | ewr | E M GiEfD
30100 (722 A 30 1,901 65 65 60 &5 304K
30300 A% 12 648 54 54 54 BN 12kg
31700 |F ¢ < 60 2,862 540 540, 378 BN 64 —A
31800 |1F 9 ALAE 42 8, 867 54 43 32 BN 2105
31900 7 X 6 2,246 432 432 324 BN 6kg
36800 |6 X k9 6 3,240 540 540 540| 51 6kg
34400 (b= b 50 14,202 292 281 281 &MY 50kg
35220 | XM ERHL 2 - 648 432) 432 432 BN 2kg
35300 E— % 4 2, 268 594 594 540 BN 4kg
35303 |2 F v FEZXALD 12 3,105 270 270 270 B 12kg
Y3026 |11y7 ExAE D (F) | 5 1,777 378 378 378 A 5kg
35400 |7 6 E 4 674 173 173 173 BN dkg
35402 | AXF T 6 6,264 1,080 1,080 972 BN kg
AT YT B o
36260 1< L7z 160 17,064 1,188 1,188 702 BN 164 —%
Y3044 | HLE () 15 810 54 54 54 BN 15kg
36501 < Y 29 4, 196 162 130 130 &M 29kg
36600 |72 £ X 12 4,212 70 70 70 E5 60A
37200 | L 928 6 713 119 119 119 5P 6kg
33200 (A 75U — 1 108 108 108 108 5P e
33300 Tyl — 3 270 108 108 108 B9 3kg
33300 [Ty oY — 10 1,555 49 19 49 BN 3218
Y3018 (7 12 1,037 108 76 59 B L2
Y3030 P&{EAE (F) 1 1,512 1,512 1,512 L, 512 B lkg
36340 LR HHEE 36 6, 091 238 238 65 BN 36kg
41806 | 7= A7A 42 10, 584 756 756 756, B 14% > I
41806 7= A A 100 43, 200 2,160 2,160 2, 160 &N 204 — A
46108 | S AMEONEE 39 47, 758 378 378 324 BN 130/8 w2
21011 (A7 L —4) 70,125, 63 61 44 5P L2200k
21050 4xfaks 2,123} 33, 33 28 /AN TOK
71150 | LI 132 33 33 33 By a4
71270 (Fa—V v 7 1, 155 385 385 385 1 RET O
53456 | 1= i 7aik 2 367 216 216 216 B \2kg
Y5004 it 27 5, 670 216 216 162 BN 27kg
Y5010 [ObSX (F) 4 1,080 270 270 270 5P kg
30100 72V A L 20 2,160 1,080 1,080 1,080 FEVZE 2 —RA
30100 |72\ A 240 2,214 216, 65 54 EWRE 2488
30300 A% 170 7,236 864 540 216 5 174 — R
30400 | TIF 5 6 1, 620 65 65 43 fEA 304
31100 |3 » 165 6, 534 594 594 594 B L B 11— A
31100 |AX L 30 2,808 1,404 1,404 1,404 FEWEy 2/ —A
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31200 (L#E o 4 4,104 4,104 4,104 4,104 VL5 14— A
33810 | HAHHE L 4 432 22 22 22 BEVL S 204
37440 /0 bi 2 896, 896 896 896 | HEVL K 17—
Y5005 4 KEA 5 1,566, 1,566 1,566 1,566 K4y 1 —2
32600 | #4G 4 o216, 11 11 11 EEWE, 208%
31700 | ¥ 160 7,020 540 432 432 B8 B 164 — A
Y3055 (L v Ry 10 972 162 162 162 FEVE 5 614
31950 AR L 12 4,104 1,080 972 972 B I 44— R
31950 \HAAE . M 3 1,080, 1,080, 1,080 1,080 FEE 17— 2
31900 X » 10 4,169 216 216 194 UL 2034 (500g)
1T e e i ———
34400 | k= k ' 24 3, 888 648 648 648 FE 5 5 64 —
34400 k= k M 12 6, 156 2,052 2, 052 2,062 FEWLE 37— A
34100 ]I 30 13, 284 2,376 2,376 2,052 FEVE & 64— A
34100 /K B 864 864 864 864 HEYLE 14%
34571 STV A () 1,836 184 184 184 #E[E 10fE
34572 X7V A () 1,836 184 184 184 [ 108
36600 7~ FHE M 80 5,616 1,404 1, 404 1, 404 AcifEiE 4% — R
36600 - FHE B iz 40 1,458 864 864 594 AL 2%y bk
37200 (L X 95 H 2 L 3,024 1,620 1, 620 1,404 (= 20— A
33420 ZU—2U—TL AR L 1,728 1,728 1,728, 1, 728/f@M = 1H—=%
33600 | /<t U 1 562 119, 108 108 | % 543
33300 [Ty 3l — 5 734 54 43 43 VB 16
31310 | AP 8 756 54 16 11 f ] 40%%
31500 (/]MA%E 4 1,728 1,728 1,728 1,728 HEVL 15— 2
36700 |12 AT < 5 2, 160 594 378 378 H 2 I
37560 \BEIE | 1 2,646) 378 324 324 K%y 188y
36400 7RA5E C 2L 10 2,376 2,376 2,376 2,376 # #% 17— A
38400 Z DI 5 1,080 22 22 22 IR 504%
38604 T U L XE 3 3,078 103 103 103 W 130%%
41320 )\ ¥ B 54 54 54 54 FERE 17— |
41806 |7= A A 20 5184 1,296 1,206 1,296 fEWE 4 —R
Y4017 (450 10 6,264 6,264 6,264 6,264 FEE = 1F—=%
Y4017 H > 5U 50 10,044, 2,376 1,836 1,836 £¥F 54— 2
43611 MEEA N E 18 2,009 432 432 216 & i 67 —A
43810 | & ATl 2 2, 700 270 270 270 Fndkil 103y 7
49100 /3 12 3,888 3,888 3,888 3,888 74 UbL 14—
49300 (¥ 7 4 7 —Y 10 6,264 3,132 3,132 3, 132|t&M 25— 2
a3t 2,026 418, 908 i
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